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SSC CHSL (10+2) 2022

* Find the value of question mark?

* UYaTa g T 09 J1d HhIfe?

7
286 16
A.66
142 34 - 06
(/—\




* Find the value of question mark?

* UYaTa g T 09 J1d HhIfe?

@




SSC CHSL (10+2) 2022

* A wall clock lags behind by 7 seconds 1in one hour and is corrected at 8 a.m.
What time will 1t show at 3 p.m. on the same day?

* Ueh S9N Tl Teh & | 7 Hehe T BT ST & 3N 38 UTd: 8 I S¥eh oL feam Sran 2,
Ig 3 foT TIuet 3 o T gy fegmui?

A 98I0 2:59:23

q B.H%ET2:59:1
‘\‘4

C.9sT 2:59:15
D. 91 2:59:19




SSC CHSL (10+2) 2022

® [f M stands for '-', N stands for '+', O stands for 'x' and P stands for '+', then, in
the following equation, '?' What will come in place of?

o Jfe M ohT 379 '-' 8, N a7 37 ' 8, O o7 37 'x' & 3T P okt 379 '+ &, 4, Frferfigd
GHYSHTOT | 19" o TATT YT AT ATTT?

* (330 13)N19M27P (3803)P43 M 68 =?
(3%‘3) —)g — Ql—l—(@%x N
20=23+ (|<]~—M\; |

S N4-25 = 1152 (= (g)
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* Which of the following number will replace the question mark (?) in the given

series?

&

o/ |\ |
: o | I
; A il
; AN V4
| Eh — ,#’('{
+ s Doy '
D.55
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®* In a certain code language, 'APRON' is written as 'CNTMP' and 'EARTH' is
written as 'GYTRJ'. How will ' HEAVY' be written in that code language?

* Th {H125d e AT H, 'APRON' %I 'CNTMP' 3T 'EARTH' %! 'GY TRJ' fefia STl
21 3¢ e a1 3 REAVY 0 fora@r strame
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* Select the option that shows the letters which when placed in the given spaces

from left to right will complete the letter series.

* 34 fIehcd T IIF ShISTT ST 37 37&JL <kl S30TdT © 979 ST feU 770 foeh T § o6 9
314 T W 3A& H@AT YU &1 STt 2

2 ; 2
* DEFWQ ) EFUGDEFUGDEFTG /
i <_ A EDhc\\N/I

F DV ~/3 d \ ‘ \m

—b DB GE,
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* [f 1t was Tuesday on 28 February 2017, then what was the day of the week on

28 February 2019?

e 3f& 28 HTEY 2017 ST HITCTSTHT, | 28 T 2019 shT THTE o7 hI &7 T2 o7 2

N
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* There are seven friends M, N, O, P, Q, R and S, each of different age. Only two
persons are older than Q. P 1s older than Q but younger than O. M is older than
R but younger than S. Only three persons are younger than S. N 1s the youngest
among all. How many persons are of age between the age of Q and R?

* §d 1 M, N, O, P, Q, R 3R S, Teh ohi 3T 3T 3T & | ohalel &l ATk Q €
ISR P, QU TSI kT O A BT 2l M, R U S€T @ Aifohd S ¥ BILT 8l hacd d1H
Fith S ¥ BI¢ &l N &l H Hei BT 81 Q 3N R hl 3T h sl Tohell SATHAT hl

3T &7

<‘__ % . A. 1
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* Study the given pattern carefully and select the number which can replace the

question mark (?) in it.
e faU TTQ Y AT TAYSh T L ST IH GEAT hl < L ST §qH T o8
(?) =T fEeriud T Hehd] 2

* U] Uitk - 13, 50, 104
* Ul ufh - 11, 42, 2
o Fodt ufth - 18, 70, 144

f | x4-2 . None of these

344 1O
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* In the given pair of numbers, the second number 1s obtained by performing
some mathematical operations on the first number. Same operations are
followed 1n all the number pairs except one. Find the odd number pair?

e faT 7T HEATSHT o6 JH H, TEet HEAT T FS MO HishaATU htch GOl HeT 3T
STl 81 Teh ohl DISehT Tl S&AT IHT H GHI HshATE, IIATS ST 8| ToIeH eam I

FIGEIS P,

B. @51
C. 6210

3
D. 4:64\/
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* In the question find the number of triangles.

* T H VST ohl ST JTd hifsTg)

o aw

27
25
23
21
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®* Which letter-cluster will replace the question mark (?) to complete the given

series?

* &Y 115 YT shl T T o [o1T shiF &1 SHER-HHE T Tor@ (?) shl TiaeATivd shir?
24 l

 XAPE, BIBU.?, JYZA, NGLQ
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* Select the option that gives the correct order of the given words as they would

appear in an English dictionary.

* 34 fIohcd T I3 shIfSTT ST fU 7T STec] o HET shH ol SIT1dT & ST JohR o Uk
TSI SreeehiyT H fem@s o)

° M&elgine

2
: Mﬁce\d;zre/
’Mmhinery
Maf:e\lrom 4

Mﬂ'cl?ete
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* Select the option 1n which the two letter-clusters share the same relationship as

that made by the given letter-clusters.

* 39 {ofehic™ =T <II Sh1IST ISTHH T 18T FHE & Heiel T hid &, SiT fau T 37a-

"
EHE SR foraT T 2
20 312 241\

* E\[\ XKX
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® X walks 15 meters in South direction, then turns left and walks 15 meters and

again turns left and walks 15 metres. How far and in which direction is he from
his 1nitial position?

o X, Sfeqor faem & 15 Hiet =retar &, TR aITd Jgart 15 Hiet ardl & 3R IH: 91 TS
15 Hiet =t 81 € STat srifireh feerfa & fopaft g2 o forer fozm o 22

[

715 HiA I H

G RN

C. 15 Hereteury
L D. 15 Herutggd
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® Simran told Rahul, "That girl 1s the youngest daughter of my friend's mother's

brother-in-law." How is the girl related to Simson's friend?

N\

o TG 7 TGS ohi ST, "8 TTGeh! HL THET Sl A o SHISIT shl Heil BT st 21" I8

! fomeT i g O forg TR Geifera © 2

%
D

A. WIS/ 9Tl
B. ¥disil / ¥t

Pk |




* Three different positions of the same dice are shown below. What 1s the number
on the face opposite to 1?

o Ueh & U8 1 ofi Tetr-37er Rerfaat = qgrieft 718 2 1 o |1 STl Holeh UL hid
ot g 27
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® Out of the given options, three are alike 1n a certain way. However, one option

1s not like the other three. Select the option which 1s different.

o fu T foreredt 0 W, 1 Tehs [T Tiish & 99 2| BTcilfoh, Ueh foehed 313 i oh
e 721 Bl 39 faeneq o1 == shifsta i firt 21

R A. 163
4 36 £ 167
A\ C.173

D.171




